


−

− −

kg kg

S2/S1



p − p
s−1cm−2

• p + p→2 H + e+ + νe 5.95× 1010; ≤ 0.42

• p + e− + p→2 H + νe 1.40× 108 1.44

• 3He + p→4 He + e+ + νe 9.3× 103; ≤ 18.77

• 7 7Be + e− →7 Li + νe 4.77× 109;

• 8 8B →8 Be! + e+ + νe 5.05× 106; ≤ 14.06



∼

νe

νµ ντ



νe +37 Cl → e− +37 Ar

2.56± 0.16± 0.16 = 10−36

7.6+1.3
−1.1

νe +71 Ga→ e− +71 Ge

8B hep hep

129+9
−7

νx + e− → νx + e−

νµ ντ νµτ + e− → νµτ + e− ∼ 0.15
νe +e− 2.35±0.02±0.08)×106cm−2s−1

46.5%

• νx + e− → νx + e− ΦES = 2.39+0.24+0.12
−0.23−0.12 × 106cm−2s−1

• νe + d→ e− + p + p ΦCC = 1.76+0.06+0.09
−0.05−0.09 × 106cm−2s−1

• νx + d→ νx + n + p ΦNC = 5.09+0.44+0.46
−0.43−0.43 × 106cm−2s−1



8B
10−4

νe.

•

νe +20 Ne → νe +20 Ne

27◦

•
νe

•

•
115In

νe +115 In→115 Sn + e− + 2γ



129/131 136

4π



129/131Xe (136Xe

νe p− p

136Xe

136Xe

39Ar A2

A

p− p

10−10

S2/S1



S2

(x, y) S2

(x, y)

5× 5
S2

R
L

(R− L)/(R + L).



5× 5

5×5 2.5×2.5
x (R−L)/(R+L)

1mm x

(R−L)/(R + L)

(R− L)/(R + L)

x



x
(R − L)/(R + L)

(R− L)/(R + L)

0.1mm mm






